N = 0l & At & Ml A

20188 &= =0l &t 2 BH3)

SN YAS
M JAS HFHAUX WEHIT ==
& Pas AFMHA 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
RS 611,612 530,438 81,174
QS FHIAX WERT =5 528,864 448,930 79,934
LS HEAMHIA L35 528,864 448,930 79,934
HEAMHIA 2229 196,264 158,410 37,854
101 @14 dl 14,804 900 13,904
4 D12t ZE2XREES 14,804 900 13,904
OS&EA stEHEH 2 450,000& »23| 900
OM3g g8 22y 13,904
—Jl=s 60,2403 x 1 1652 9,940
—SeFsrE 60,2403 x1H 352 2,109
—28s 265,000& +7& 1,855
201 et 173,860 156,910 16,950
01 At 2teltl 23,800 23,800 0
O&FIIZHEE L ME == 550,000& 42 DI 2,200
OMEI1Dl 28 425 F¢  900,000&«12& 10,800
OMEES ¥ 2,700,000& x14 2,700
OFARIIA XA SH 7,008 +252 «122 2,100
OBASE % ZZHEE 7Y
500,000& »12& 6,000
02 2324l 150,060 16,950
OFMNLS 1,200,000& 14 1,200
OMRA & Jtz2s I3
9,450,000& x12& 113,400
OXsSZHIAIE |X2e 88,000& x12& 1,056
O=ER= 280,000 128 3,360
OSEE &82= 4,000,000& x 14 4,000
OFEAL HItMFH =2 100, 000& 22| 200
OMEH RFU 2,444,000 14 2,444
OAagstE slzel 3,200,000& 14 3,200
OFAXE RA2c 17,000, 000& =1 17,000
OXEE=NY X2l 2,000,008 1 2,000
OSHOALS ALY K24
1,100, 0002 »2CH 2,200
301 et a3z 600 0
09 BAHAIHI & &2 600 0
OTHHYs S A5 YA =7
600,000& *13] 600
401 Al HIZ 201 8] 4,000 4,000
01 Al& 4,000 4,000
OFAEXNZ & 2ARE > 4,000
405 XtatE SHI 3,000 3,000
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BAZ FHAUX HERIDA 7=
LA S HAAMHIA Z3Et

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 3,000 0 3,000
OodsiiE ¢ 3,000,000& =14 3,000
FoEo MEsH M 139,600 107,520 32,080
101 @144 dl 68,280 57,200 11,080
04 JI2ZtHZ22HEE =+ 68,280 57,200 11,080
OAE2eld o2 1,890,000& 12 22,680
OZL(DAZDA)ATH 2122 8,000,000 13 8,000
Oot&E EtJl =2 3,200,000%32] 9,600
OSHz 2 MMz 2| A9
1,700,000& 32l 5,100
O3.1s¢ =8 M=z ¢FY 300,000& =33l 900
OUEsEE Fx=HAH A2 1,000,000& 23] 2,000
OJtz2stet =M 1Ry 5,000,000 *43] 20,000
201 ¢er24] 17,100 11,100 6,000
01 At 22l 8,000 2,000 6,000
OYMNEY SFA 228 7Y
3,000,000 » 14 3,000
O tMEHCCTY S Al 22l 5,000
02 2324l 9,100 9,100 0
OYAAE stEHA RX 2= 1,900,000 1 1,900
OYMAT &I H5t4E 23
600,000& =128 7,200
206 M= Hl 21,500 21,500 0
01 M= 4l 21,500 21,500 0
OZ3xd AHEZ AN M2
10,000, 000& 14 10,000
OZL(DAZA)AT MY
10,000, 000& 14 10,000
OAJHX /== F=HAH M2+
1,500, 000& 14 1,500
301 LB A F 12,720 12,720 0
01 MI28E %06z 12,720 12,720 0
ONASESE IHE FAYA A 12,720
401 A& HIZ 201 Y] 20,000 5,000 15,000
01 A& HI 20,000 5,000 15,000
OfIg=+== MAH X& 5,000,000& 14! 5,000
OME M EHCCTV & X 15,000
THoHole =2l=& doiZ 145,000 145,000 0
201 £B-2%H| 5,000 5,000 0
01 At 22l 5,000 5,000 0
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SN YAS
HzM: AdAg BHAX WERKA =
Ce: AT HIAMHA 23S
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Ei
OTHoll ol & =232 HH Xz
5,000,000 =1 5,000
401 AlEHIZL 2 0HY| 140,000 140,000
01 Al&H| 138,488 138,488
ONN0IE Mo E XY HHIALY
10,000, 000& *98.92% 9,892
OFESK s2 MEZA
10,000, 000& *98.92% 9,892
O30t == EH ALY
10,000, 000& *98.92% 9,892
OF=20t2 s2 MEZA
10,000, 000& *98.92% 9,892
OLHNIS =2 FHIBA
10,000, 000& *98.92% 9,892
ONHEDIE =2 FHIBA
10,000, 000& *98.92% 9,892
OXUXOIS == HHIZ2AH
10,000, 000& *98.92% 9,892
OHMel =2 HUl B A
10,000, 000& *98.92% 9,892
O8=0I2 == EHHIZ2AH
10,000, 000& *98.92% 9,892
O2s0tS == EHIZ2AH
10,000, 000& *98.92% 9,892
O2H0tS == EHHIZ2AH
10,000, 000& *98.92% 9,892
OF00t2 =2 FHI3A
10,000, 000& *98.92% 9,892
OLAXF? MoHRE XS HHIZA
10,000, 000& *98.92% 9,892
Oga MEuANE BLZM
10,000, 000& *98.92% 9,892
03 Al 201 Y| 1,512 1,512
OOl Ol 2 =0I=3 ol &
140,000,000 *1.08% 1,512
=OIXXAHE 2229 8,000 8,000
201 et d| 5,000 5,000
01 AFR 2t 2| bl 3,000 3,000
OFQXXIAE 22 3,000,000 =1 3,000
02 22244l 2,000 2,000
OFUXXNEEH 24 1,000,000& =1 1,000
ONMEHHAAN S KA B 1,000,000 =14 1,000
405 XHA&HF S HI 3,000 3,000
01 AL 2 ZF S| 3,000 3,000
OMeEaHAA AASXI|F2 2 3,000,000 3,000
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A2 THOH O & 40,000 30,000 10,000

401 Al HI L 20 HI 40,000 30,000 10,000

01 A& HI 39,568 29,676 9,892
OALA2 THOH O A 40,000,000& *98.92% 39,568

03 Al& 201l 432 324 108
OALAZ THOH O Z A 40,000,000& *1.08% 432

HHSAAY (YA S) 82,748 81,508 1,240

Jl2& bl 82,748 81,508 1,240

AT Jl23| 82,748 81,508 1,240

201 LEt2 | 24,268 24,268 0

01 AFR2t2l bl 20,268 20,268 0
OgdHARFZA 14,775,000& =14 14,775
OYHAL =X (S&HI) 3,693,000& =1 3,693
ogx a4 60,000 *1H 30 1,800

02 35294l 4,000 4,000 0
OFAMNSX &« 22| 4,000,000& =14 4,000

202 04t 43,680 43,680 0

01 2LHHI 4,560 4,560 0
OYHAILR=A 240,000& *19Y 4,560

02 N0 H| 39,120 39,120 0
o= 200,000& x1H x12& 2,400
o888 olst 170,000& x18H x12& 36,720

203 € R =&Y| 11,800 11,560 240

01 J|22I PR =Y 6,600 6,600 0
OJa2dd2 =8| 6,600,000& x 1 6,600

02 R R =AY 1,000 760 240
OFJAINNNME R =AY 40,000& *25H 1,000

04 ENSIHRF=AY| 4,200 4,200 0
ORN2IIRF&Y| 350,000& x12H 4,200

405 X+H&HF SHI 3,000 2,000 1,000

01 A&t = S F SHI 3,000 2,000 1,000
Os8 g2FA 3,000,000& 1 3,000
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el 339 dFAMHA H3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFS8Y Mty |X 2el 2,000,000+1E 2,000
206 M= Hl 6,000 5,000 1,000
01 MHZ 8l 6,000 5,000 1,000
OAIJHAI 22 =4 M=l 6,000
301 gt 4= 3,720 3,720 0
01 Mel28E %06z 3,720 3,720 0
O i HI3L2 LAY 3,720
401 Al HIZ 201 Y] 15,000 3,000 12,000
01 A& HI 15,000 3,000 12,000
OfIE=+=S MAH X& 3,000,000%1& 3,000
OME M EHCCTV & X 12,000
HoHoe =gl=3 oiZ 85,000 85,000 0
201 L2l 5,000 5,000 0
01 At 22/l 5,000 5,000 0
OMoiolg % =3&H X2
5,000,000& » 14 5,000
401 AIEHI L 2CHEI 80,000 80,000 0
01 A& HI 79,136 79,136 0
S=cl Moo 15,000, 000%98.92% 14,838
Ogdtel THoll 2 & ol & 20,000,000%98.92% 19,784
O=1cl th=2FHl SAt 15,000, 000%98.92% 14,838
OASel s2&H SAt 20,000,000%98.92% 19,784
OFX0tS et FHl SAt 10,000, 000%98.92% 9,892
03 Al 2 THHI 864 864 0
OMofiog FR=JAAY =&
80,000,000 =1.08% 864
22 THOH ol 2 30,000 30,000 0
401 Al HI K 201 I 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 Al S THHI 324 324 0
OLA2 THOH Ol AL 30,000,000& *1.08% 324
HYR2IZH (FSH) 53,360 53,320 40
JlEZdl 53,360 53,320 40
FEH JI23l 53,360 53,320 40
201 Let24d] 14,520 14,520 0
01 At 22l 11,520 11,520 0
OHE gR=a 9,120,000& » 14 9,120
OHE ARFX(SHI) 2,400,000* 14 2,400
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dM: 2¢H F0HAUX WERKZT *=
& 24H AFIMHA 25 (&)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
O Mohole Fe=JAAMd=
80,000,000& * 1.08% 864
22 THoH ol 2 30,000 30,000 0
401 Al HI K 201 30,000 30,000 0
01 A& tI 29,676 29,676 0
OL72 THOH Ol AL 29,676
03 A& =2 THHI 324 324 0
OLA2 THOH Ol AL 324
A2I=2E 24 62,222 57,123 5,099
101 @124l 24,442 21,473 2,969
04 D12t 22 HEE = 24,442 21,473 2,969
Oxne=sy Bl AVYUHEE NRLT)
8,000 »209Al 2+ * 128 »12H - (20,064 ,000& 7.3 18,600
%)
oozt 64,0003 x 15 «1H 960
og&E=22 ¢ 12,000 x20A| 2tx 128 2,880
OZEF It 900, 000& *23] 1,800
O4UEEZ (ALS X £E) 2,006,400 *10.02% 202
201 Let249] 27,280 25,650 1,630
01 At 22l 6,700 4,000 2,700
O=s=gsAate 300,000& »12& 3,600
Oxgssy 2A9AN ALY
100,000& »7H 33| 2,100
O=8%g T HHI| L Hd &x
1,000,000 1,000
02 =224l 20,580 21,650 A 1,070
OHIIRS 1,000,000& »12& 12,000
O3 150,000& = 12& 1,800
OfdYsAES 10,000& =123 120
O&=I ABZ 45,000& ~ 123 540
ON3ea 10,000& 12 120
O==8 45 250,000& x12& +23| 6,000
401 A& HI K 201 10,000 10,000 0
01 A& HI 10,000 10,000 0
O==¢ slEEZ Z2EZd uwHd 10,000,000 10,000
405 RHoHE S HI 500 0 500
01 AL EZFH S 500 0 500
oxe=sy ¥4 2Y 500
HY2IEH(2LH) 89,006 61,048 27,958
Jl=3l 89,006 61,048 27,958
28 JI234l 89,006 61,048 27,958
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SA: 2R
M. e KK UWEHD 2=
Selr RS BZMHIA 23 CEEEED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBFEAL He| ¢=2d 60,2403 »1H x50 3,012
201 et 4,000 0 4,000
01 At 22l 4,000 0 4,000
OME LM YHCCTV | Al2t2 4,000
206 M= Hl 8,000 8,000 0
01 =8l 8,000 8,000 0
OZ&xd M=l 8,000
301 et d = 4,320 4,320 0
01 MEIBEZE 06z 4,320 4,320 0
Ok JIHEYE LAY 4,320
401 AIEHI L 20 15,000 3,000 12,000
01 A& HI 15,000 3,000 12,000
OfIg+== MA 3,000
OMaorMety CCTV & X 12,000
THoH Ol & ==0l=3 of& 84,000 84,000 0
201 LBt 4,000 4,000 0
01 At 22l 4,000 4,000 0
OXoioey 2 5+ EH = 4,000,000 4,000
401 AIEHI L 20 80,000 80,000 0
01 A& Bl 79,136 79,136 0
Ool=el s22& 3Ab 15,000,000 *98.92% 14,838
O=2ZFal Mooy At 15,000,000 *98.92% 14,838
OJ=el s2Z& S At 10,000,000& *98.92% 9,892
OctZ 0S8 s2&FHl A
10,000, 000& *98.92% 9,892
OMZ & &tA HHIZSAE 20,000,000 *98.92% 19,784
OO0t Moo At
10,000, 0002 *98.92% 9,892
03 A& =2 THHI 864 864 0
Ot =0I=g A  80,000,000% 1.08% 864
22 THoH ol & 30,000 30,000 0
401 AIEHI L 20HEI 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 Al S THHI 324 324 0
OLA2 THOH Ol AL 30,000,000& *1.08% 324
A2I=2E 24 58,674 56,173 2,501
101 @14l 23,974 21,473 2,501
04 JI2ZtHZ22HEE = 23,974 21,473 2,501
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(ISRVSRS]
A A A
e e

02 o

OXXl WESRZA 7=
FMHIA 2 et

M- =8 s (3) - HRAMY - BES il HlnE2

oJle= 60,2403 x23L x 103 «1H 13,856
OFs=¢ 60,2403 *x45F+1H 2,711
Odxt=4 60,2403 x20 L x1H 1,205
og&EzZ2+Y 77,6403 x452 < 1H 3,494
OZFEF Il 600,000 *23| 1,200
O4liEg = 19,965,000& *7.55% 1,508

201 Let24d] 34,700 34,700 0

01 At 22l 6,000 6,000 0
O==g KXzl 600,000& »10& 6,000

02 23224l 28,700 28,700 0
O&IIR3 1,400,000& 102 14,000
O3 800,000& »10& 8,000
ONsea 20,000& 10 200
OJIEtR3 50,000& 103 500
OX2=28 45 ¢ A 600,000& »10& 6,000

HY2AHH (BEH) 64,020 59,860 4,160

Jl234l 64,020 59,860 4,160

Z8EH J=23| 64,020 59,860 4,160

201 LB-2dH| 16,740 16,740 0

01 At 2t 2l 13,740 13,740 0
OHE g2=2 9,980
OHAE ARFA(SeHl) 2,500
O 2| 60,000& x21 1,260

02 =224l 3,000 3,000 0
OFEAIRA & 2e] 3,000

202 o4l 34,080 30,000 4,080

01 = LH YI 3,120 3,120 0
OHE gR=2 3,120

02 2N 30,960 26,880 4,080
o 200,000& 18 128 2,400
OfHZlot 170,000 14 » 128 28,560

203 R =&l 10,200 10,120 80

01 71228 =2H 6,600 6,600 0
oJjza2d 6,600

02 33 H 2= 600 520 80
O&E A bt 40,000& x15H 600

04 EAN2IHRFEHI 3,000 3,000 0
ORNE2Y 250,000 128 3,000

405 TtabF S| 3,000 3,000 0
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N = 0l & At & Ml A

20184

H
o
2
>
ne
o
ton

S R=Pl

A dxH FOHAX WERID 25
Sl HXIY BHAHA 2 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SxH 280,796 246,560 34,236
SXH FHIAX WERKIT =5 225,292 191,096 34,196
SXH dEAMHA 235 225,292 191,096 34,196
HEAMHIA 2229 77,212 62,016 15,196
101 @14 dl 9,000 0 9,000
4 D12t ZE2XREES 9,000 0 9,000
Oz 33aa Rlde U2
9,000,000 » 14 9,000
201 LBt 67,612 61,416 6,196
01 At 22l 10,000 9,000 1,000
OAMBI1Dl 28 ABF #¢&  7,000,000& 14 7,000
OFJIIUnH=E Y M2FR=E 2,000
O&X 2334 KA 1,000
02 =24l 57,612 52,416 5,196
OF At =HI 1,200
OAMBA IS 600,000 »12& 7,200
OXtzs d#lles 7,300 «326S 128 28,558
O=sXalz M3 400,000 x12& 4,800
O=Xsg2 24l 2,000,000& » 14 2,000
=23 50,000& x12& 600
OX=s3HIAE |RA22 88,000& 123 1,056
OTVAIE = 16,500& 128 198
SUS 2ERS 150,000& =122 1,800
OMEH SFU 2,000,000 » 14 2,000
OFEAL HItMFH =2 100, 000& 22| 200
O=EXE FA2el 5,000,000 » 14 5,000
OXERXNB(XES SXXE) 3,000,000+1E 3,000
301 et a3z 600 600 0
09 &AL HI B &S 600 600 0
OZZEE3 s A8 =& 600
FoIEO MESH M 28,080 11,080 17,000
101 @14 dl 4,000 4,000 0
04 JIZHHZ2XNSE+ 4,000 4,000 0
O2Z x4 AR 3,000
Oot&E EtJ|l =2 100,000 53 »23| 1,000
201 LEr2 Y| 4,000 0 4,000
01 At 2teltl 4,000 0 4,000
OME ot etH CCTV | Al 4,000
206 M= Hl 4,000 3,000 1,000
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fAM: EXH
M dxH HFHAX WEHIT ==
S

@ 9xH S HIA 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

01 X2 H| 4,000 3,000 1,000
OZLAXH Mz 2 4,000

301 et A= 4,080 4,080 0

01 Al B & X 262 4,080 4,080 0
O3 A LI HAAY 4,080

401 Al HI L 204 HI 12,000 0 12,000

01 Al&H| 12,000 0 12,000
AEoL M B CCTV A X 12,000

Molog =0l=3 o2& 90,000 88,000 2,000

201 LBt Y| 5,000 5,000 0

01 AP 22| H| 5,000 5,000 0
OTMafoe & 232 & X 5,000,000 5,000

401 Al HI L £ 0HHI 85,000 83,000 2,000

01 Al& b 84,136 82,136 2,000
OfIgs+sS MAHAXA 5,000,000& 5,000
OSF20tS Moo EAIS 5,000,000 «98.92% 4,946
O&FE0S THAHOEAIE  15,000,000& x98.92% 14,838
OXX0t=S oM AFE  15,000,000& *98.92% 14,838
OZUE 0= THAHOEAIE  15,000,000& x98.92% 14,838
O3 =02 oM A  10,000,000& *98.92% 9,892
OXZ 02 THAHOIEAFE  10,000,000& *x98.92% 9,892
OZALOLS THOHOI2EAFE 10,000,000 x98.92% 9,892

03 AlE 21| 864 864 0
OTHoH ol e F=2=]cHZ 80,000,000 *1.08% 864

A2 THol ol gt 30,000 30,000 0

401 AlEHIZ 2 0HY| 30,000 30,000 0

01 Al& B 29,676 29,676 0
OAMTFHE THOHO BFAFS 30,000,000 x98.92% 29,676

03 Al 201 Y| 324 324 0
OALTFE THOHOl BEAFY 30,000,000 x1.08% 324

HHSAAH (EXH) 55,504 55,464 40

JlE&ddl 55,504 55,464 40

X 28| 55,504 55,464 40

201 Bt 14,664 14,664 0

01 AP 22| H| 11,664 11,664 0
O g2=x4 9,331,200%14 9,332
QHE AR (SEH|) 2,332,000& =1 2,332

02 E2=2=24%H| 3,000 3,000 0
OFAMNSX &« 22| 3,000

- 587 -




SN R
o HZ2YAH (HAH)
el D= A

SA - ZE-B(EA) - NRAY - B S il &t o il

202 Od4dl 27,720 27,720

01 = LHA YI 2,880 2,880
OHE g2=2 2,880,000 14 2,880

02 X 24,840 24,840
osd 200,000& x1H 128 2,400
OfHZ Olot 170,000 11H »12& 22,440

203 YR =&l 10,120 10,080

01 JI22Z YR =2 6,600 6,600
oJ1229 6,600

02 AP 2= 520 480
OF Atk 40,000& x13H 520

04 FN2ELSZ=TH 3,000 3,000
FAE2E 250,000 128 3,000

405 THabH S| 3,000 3,000

01 XML = ZFH SHI 3,000 3,000
OHE gR=2 3,000
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H = 0 A&F AF S & Al
2018 = 20l & LB H LAS ~ XAIH
SAM: KAFH
3 AAMHE HFHUX HWERKZA *=
Sl KA BHAHIA 23 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
XIAFH 299,622 252,977 46,645
NASH BAHXX WERKZD 25 246,118 199,513 46,605
KAFSH SHAE HHIA 235 246,118 199,513 46,605
HHANHIA 2229 91,098 66,893 24,205
101 @121l 723 518 205
04 JI2ZtH 22 XEE 723 518 205
OHAEAN Hel o 60,2402 *1H x123] 723
201 LBEt2H Y| 69,775 65,775 4,000
01 At 22l Yl 12,175 12,175 0
OFINZLHE L ME 2SE  400,000& x4Z | 1,600
OMRIID 89 A28 F2¢ 500,000& x12& 6,000
OJIEFAR 22l Y] 4,575,000& =14 4,575
02 3524l 57,600 53,600 4,000
OFANLS 1,200,000& x1& 1,200
OAIR4 I3 500,000& x12& 6,000
Oltgs #JIe3 2,500,000x12& 30,000
OXNSZEHAIE & 100,000& = 12& 1,200
Odtete 22 400,000& »14 400
ORdeSAESs 200,000 x 1 200
OREE €523 200,000& = 12& 2,400
OARa R2M 4,000,000& =14 4,000
OFAN HIIHHEH =2 100,000& *x23] 200
O2832 FA22 5,000,000& =1 5,000
OosXza 29 3,000,000& =1 3,000
OOt L&Y SN A2
4,000,000& =14 4,000
301 Yere A 600 600 0
09 HALAHIBEA = 600 600 0
OZ&ddYs & 25 dAM =&
600,000& 14 600
401 A& HI L 2T 20,000 0 20,000
01 A& HI 20,000 0 20,000
OXNANH Ba=X IlsELSA
20,000,000& x14 20,000
FOIHO MEEY A 36,020 13,620 22,400
101 2124 1| 13,500 7,100 6,400
04 J|12ZtH 22 XHEE 13,500 7,100 6,400
OoHE Edol o 100, 000& *10H x53] 5,000
Oostdts X2e ol 100,000& 10 23] 2,000
Osta 40| @ 100, 000& *10H *33] 3,000
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M XAH
M AAME HFOHUX WERD 2=
X

S XAFH SHEAH A 23 (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS %@ﬁ 2t
DStz 2 amz Zel O9g
100,000& »10H *33| 3,000
O3. 14 EHIDI&Y o2
100,000& *5H x 13| 500
201 gEt24d| 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
OMEotMBtH CCTV | A2l 4,000
206 M = dl 1,000 1,000 0
01 X2 b 1,000 1,000 0
Ogteze Mg 2 1,000, 000& = 14! 1,000
301 et A= 5,520 5,520 0]
01 Al E& A 252 3,120 3,120 0
=g JIEYE ALY 3,120,000 =1 3,120
11 JIEtE A= 2,400 2,400 0
OMZ (YR, FANR)B2I BAS
100,000& 2 x123] 2,400
401 AlEHIZL £ 0HY| 12,000 0 12,000
01 Al&H| 12,000 0 12,000
OMEotMBtH CCTV A X 12,000
Mololgt =0l=g o2& 89,000 89,000 0
201 et | 6,000 6,000 0
01 AP 2t 2] d| 6,000 6,000 0
OMaliog & =31 &dl dx=
6,000,000 1 6,000
401 AlEHIZL 2 0HY| 83,000 83,000 0
01 Al& H| 82,136 82,136 0
O3l =2 ZE 10,000, 000& *98.92% 9,892
OPetat THOH O AL 20,000,000 x98.92% 19,784
OHE DIS2H2 EHIAY
10,000, 000 *98.92% 9,892
OYH =2 EHHIAIE 15,000, 000& *98.92% 14,838
O2% THOHOIEAIS 25,000,000 x98.92% 24,730
Of&E+==2 HAHAXNSE 3,000,000 1 3,000
03 A& E2HH| 864 864 0
OXMalioleg == A 80,000,000 *1.08% 864
H 2 JHOH Ol & 30,000 30,000 0
401 AlEHIZ 2 0HY| 30,000 30,000 0
01 Al&H| 29,676 29,676 0
OAMTFHE THOHOl BEAFSY 30,000,000 x98.92% 29,676
03 Al 20| 324 324 0
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M XA
M AMHE EHIX WEHKIT ==
Sl AAME I AHA Z3t

SA - A (BH) - HSAY - BAS 0l &4 il

| | | OATSR THoH Ol AL 30,000,000 *1.08% 324

SN2 A A (KAL) 53,504 53,464

1=l 53,504 53,464

XA D] =23 53,504 53,464

201 Lty 14,664 14,664

01 A2 22l 11,664 11,664
OBy gexa 9,331,0002 * 1 9,331
OHE A2 (SHI) 2,333,0002 * 14 2,333

02 2229 3,000 3,000
OEAMSRX 2 22 3,000,0002 * 1 3,000

202 04 Hl 27,720 27,720

01 201t 2,880 2,880
OBy gexa 240,0002 *12% 2,880

02 & 201t 24,840 24,840
O 200,000%! * 124 x 122 2,400
ORHE 06t 170,0002 % 112 x 122 22,440

203 AR FAH 10,120 10,080

01 |2 2GARFAY| 6,600 6,600
oJzedy 6,600,0002 * 1 6,600

02 MM AR E Y| 520 480
OX Tt 40,0002 % 13% 520

04 ENSIARFAY| 3,000 3,000
Oy E=3=: 250,0002 * 12 3,000

405 Xt 4FF S 1,000 1,000

01 ML EEF S| 1,000 1,000
OBy gexa 1,000,000 * 1 1,000

- 591 -




